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Line Inteqgrals

Is integrand a scalar or vector function?

(WORK / CIRCULATION])

scalar function f(x,y) vector function 7 (x.y)={P, Q)

[/(y)ds= jfm

;‘; di Is the field conservative?
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Is C a closed path? IF «dr = f(end)— f(start)
C —
/\ where Vf = F
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Green's Theorem

generalizes to Stokes' Theorem

j:';- d;}z H(cum’ FJ- :dA
o 5

Surface Inteqrals

Is integrand a scalar or vector function?

(FLUX)
scalar function [ (x,y} vector function ,?: (P,O,R)
Can z be written in terms of x and y? Is S closed?
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